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Triwsk Inequality from Holder's Inez . ( I < p Coo)
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But p - Pz = / and the triangle inequality holds
.
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Exercise : Prue Holder from Yang .



Def: Let lxn) be a sequence in a metre spae ✗
.

We
say ✗n→ × ( Ctu) courses to x) it

for all E> 0 there exists N meets that

if n> N then d(xmx)s E .
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Def : 1- sequence Cxn) on ✗ 13 Candy it
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Does for→ 0
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But fn→0 want . 4 norm.
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Are the an's candy on Li ?

If n,mZN gncx) - gmc⇒=O if ✗ Etz or x> {+ IN
llztlfv

Han - smh = fyzlankhgn.ca/dxEf*Edx-- INK



Exercise : Shaw that there does not exist some g. c-Clod]

such that gn→ g Count. the 4 norm) .


